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QUESTION 1

What is the difference between host vPort and bridge vPort? 

A. A host vPort is provisioned on VRS-G, while a bridge vPort is provisioned on VSG. 

B. A host vPort is provisioned for VLAN traffic, while a bridge vPort is for VxLAN traffic. 

C. A host vPort only supports one VLAN, while a bridge vPort can be configured with multiple VLANs. 

D. A host vPort requires static MAC address configuration, while a bridge vPort learns MAC addresses dynamically. 

Correct Answer: A 

Bridge vPort hosted in Nuage VSG/VSA Gateways Software, VRS and VRS-G hosted vPort 

Reference: https://matscloud.blogspot.com/2017/06/nuage-networks-vsp-deep-dive.html 

 

QUESTION 2

Which of the following interfaces is not supported on VSC? 

A. API interface 

B. BGP interface 

C. Openflow interface 

D. XMPP interface 

Correct Answer: A 

Reference: 

https://www.nuagenetworks.net/wp-content/uploads/2020/06/ 

Nuage_Networks_Service_Chaining_Technical_Description_Document_EN-compressed.pdf 

 

QUESTION 3

For a packet transmitted using VXLAN encapsulation, where is the VXLAN header within the packet? 

A. It is part of the Layer 2 Ethernet header, just like VLAN. 

B. It is added between the Layer 2 header and the Layer 3 IP header. 

C. It is added between the Layer 3 IP header and the TCP/UDP transport layer header. 

D. It is added between the UDP header and the payload. 

Correct Answer: C 
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Reference: https://openct.net/wp-content/uploads/OpenCT-BaaT-Technical-Documentation-2020.pdf 

 

QUESTION 4

What occurrence is NOT a problem facing a traditional data center network? 

A. High packet loss due to the use of the 3-tier hierarchy. 

B. Sub-optimal traffic flow. 

C. About half of the bandwidth is not used due to links being disabled by STP. 

D. High latency for some applications. 

Correct Answer: B 

Reference: https://nsl.cs.sfu.ca/teaching/13/880/surveyVirtualization.pdf 

 

QUESTION 5

What function is NOT supported on the Nuage 7850 VSG? 

A. Hardware VXLAN/VLAN gateway 

B. Cloud orchestration 

C. Top of Rack switch/Leaf router 

D. VSC functionality 

Correct Answer: B 
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